Manuals+ — User Manuals Simplified.

EPV ATS8 ISF Series Acoustically Transparent Fixed Frame
Screen User Guide

Home » EPV » EPV AT8 ISF Series Acoustically Transparent Fixed Frame Screen User Guide ™

ERV

PROJECTION SCREENS

—

L]

Special Edition AT8 ISF Series
Acoustically Transparent Fixed Frame Screen
For models/sizes 150” and below
USER’S GUIDE — M Type
V1.0

Contents

1 Product Description
2 Frame Assembly
3 Installation
4 Documents /
Resources

4.1 References

Product Description

The Special Edition AT8 ISF is a fixed frame screen hand-wrapped in velvet velour using EPV Screens
acoustically transparent front projection material designed for ultra-high-definition 4K/8K projectors.

The Sonic AT8 ISF material is ISF Certified for providing a flat spectral response and rendering accurate colors in
a dark room environment.

In order for the Sonic AT8 ISF to maintain its projection qualities and optimum performance please refer to the list
below for proper maintenance and cleaning.

« Use a soft bristle brush to spot clean for dust.
« Dip a soft bristle toothbrush in mild soap and water to clean light stains


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/epv
https://manuals.plus/epv/at8-isf-series-acoustically-transparent-fixed-frame-screen-manual.pdf
https://manuals.plus/#product_description
https://manuals.plus/#frame_assembly
https://manuals.plus/#installation
https://manuals.plus/#documents_resources
https://manuals.plus/#references

« Never rub or apply pressure when cleaning the surface.
« Never attempt to use any solutions, chemicals, or abrasive cleaners on the screen surface.
« To avoid damaging the screen, avoid touching it directly with your fingers, pens/pencils or any other sharp or

abrasive objects.

Frame Parts List

A. Vertical Frame x 2pcs B. ' Horizontal Frame x2 pcs C. % Horizontal Frame x 2 pcs
N\ / 4 T
C+B
™
A. ——— " A
BYC

Hardware Parts List

a. M4*4 b. /—D5*4 c. ~M4*4 d. ,—D5*4 g.

5 d
oéoo‘ {Oéooljo;l @

e ﬁ

Nj




110" 120" 135" | 150"
Item Parts List

16:09
a. Center Joints- M4 (bottom position) 2 2 2 2
b. Center Joints-D5 (top position) 2 2 2 2
C. Elbow Joints M4 (bottom position) 4 4 4 4
d. Elbow Joints D5 (top position) 4 4 4 4
g. M4x7 Screws 24 24 24 24
h. Spring 66 72 80 88
i. Pull Hook 2 2 2 2
j- Wall brackets 4 4 4 4
K. Wall Screws M5x50 8 8 8 8
l. Hollow Wall anchors 8 8 8 8
0. Center Support Bar 1 1 1 1
P. White gloves 2 2 2 2
r. 03 mm Long Iron (sides) rod / Short rod (top/bottom) 2/4 2'4 2/4 2/4

Frame Assembly

Step 1: Place the EPE sponge (foam) sheet on the ground of the area where the screen will be assembled.
Step 2: Position the pieces of the frame on the EPE sponge in the arrangement shown below.

—
EPE Sponge » y EPE SPONGE
gg

Step 3: Insert center joint (a/b) connectors into one-half of the horizontal frame (B/C) and secure with the M4x7
screws (g) as shown in the illustration below.

Tip: The center joint (b) with the larger diameter holes should be on top.



Step 4: Connect the elbow joints (c/d) to the top and bottom sections of the vertical frame. Once inserted, connect
the vertical sections to the horizontal frame sections. Make sure all holes are in alignment and the frame pieces
are flush (no gaps). They should form perfect right angles.

Tip: The elbow joint (d) with the larger diameter holes should be on top.

Step 5. Secure the elbow joints by fastening them with M4x7 screws (g), 4 at each corner.

]

Screen Material
Step 6: Put on the white gloves (p) and carefully unroll the screen material on a clean surface from the roller to the

other side as shown below. The back side of the screen material should be placed upwards.



L L L L

BACK SIDE

Front
Step7: Carefully place the screen on top of the assembled frame as shown below.
I |
——
6. -5
® ¢
. ¥ P @ ¢ 3 L O

Step 8: Insert the rods (r) through the sleeves according to their corresponding lengths on each edge of the screen
as shown below. The short rods (top/bottom) will overlap to secure a firm grasp in the middle areas.



r. (Black tips)

r. (Red tips)

0
BACK SIDE Go through the hole
({_\D from bottom to top

15mm(0.5|§")—~L
|, ¢
15mm(0.59")-/

How to attach the springs

Step 9: Hook one end of the spring and secure inside the groove of the frame, use the spring hook (i)to attach the
spring to the center of the iron rod between each hole in the following order.

/7 i d ’, /
Spring must hook both/”

/overlappingshort rods. -
7 ; ) y

Begin by first attaching all four corners, steps 1-4.
Make sure all four corners are properly affixed before proceeding to attach the next springs.



Step 10: Insert the Center Support Bar (o) into the upper top groove on the back of the frame with the bottom end
near the approximate center point of the frame and rotate it in at an angle so that both ends of the bar are in
alignment with the groove.

Diagonal Models 150” and below use 1 x Center Support Bar



2@ @ a

>

b

k
P
@9 Jo— ® &

an’

Installation

Step 11: Measure the overall length and height of the frame and drill holes for the top brackets. Line up the wall
brackets with the drilled holes on the installation location and screw them in using a Phillips screwdriver. If not
installing into a structural wood stud, use a hollow wall anchor then screw in the M5x50 wood screws with a
screwdriver. Make sure the brackets are leveled.

Diagonal Sizes of 150” and below use 4 x wall brackets

Model/Size 110”

X = Wall bracket distanc

X1 = Bracket hole dist

Y = Top/Bottom Wall Bracket Height

e ance
110” 1280mm (50.39") 30mm (1.18") 1410mm (55.51%)
120" 1390mm (54.72") 30mm (1.18”) 1530mm (60.24")
135’ 1550mm (61.02”) 30mm (1.18”) 1720mm (67.72")
150" 1720mm (67.72”) 30mm (1.18") 1900mm (74.80")

Step 12: Position the fixed frame screen onto the top part of the bottom wall brackets (fig 1) as shown below and

push down at the center of the top of the frame (fig 2) to secure.

Don’t tighten the screw to allow
the screen to move up and down




\\\]\

L)

For Technical Support or an EPV Screens contact in your area, visit www.epvscreens.com

JA08112022 www.epvscreens.com U-00255

Documents / Resources

EPV AT8 ISF Series Acoustically Transparent Fixed Frame Screen [pdf] User Guide
AT8 ISF Series Acoustically Transparent Fixed Frame Screen, AT8 ISF Series, Acoustically Tran

sparent Fixed Frame Screen, Transparent Fixed Frame Screen, Fixed Frame Screen, Frame Sc
reen, Screen

References

« = Homepage - EPV Screens® Projection Screens for The Custom Installation
« = Homepage - EPV Screens® Projection Screens for The Custom Installation

« User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


http://www.epvscreens.com
http://www.epvscreens.com
https://manuals.plus/m/bd820109b1aa2d9887c05fd035dc9a4cedbdbb25b5dc1a2fa2df5d4272ae613f
https://manuals.plus/m/bd820109b1aa2d9887c05fd035dc9a4cedbdbb25b5dc1a2fa2df5d4272ae613f_optim.pdf
http://www.epvscreens.com
http://www.epvscreens.com/
https://manual.tools/?p=11549072#MTY3LjcxLjg0LjkyOzs7Ow==
https://manuals.plus/
https://manuals.plus/privacy-policy

	EPV AT8 ISF Series Acoustically Transparent Fixed Frame Screen User Guide
	Product Description
	Frame Assembly
	Installation
	Documents / Resources
	References



